BF—EFIILX

—EMERFHERR

2023.9.17
EHREREE
A
ER-E | mBE-a) hi-+E | EH-RA
% B & fiz
(TTM-82R) (EHIHKE) (Re'START) | (BEELVTHE)
JEH-RE
0 ¥ 3 1-1 2
(TTM-£kR)
hnegE- w2
3 2-0 1
(BAMIRKF) ;\:
hix-+E
* * * - | -
(Re*START)
EH-RA
) 2 0 x 0-2 3
(BIENT2E)
B
M- lUR Hk-ll | Bi-XEF | FE-AME
% B & fiz
(UNISON ) (BEITRXZ)  (f=2J\) (RIREM)
M- lUAR
3 3 3 3-0 1
(UNISON )
EK-gl
0 3 3 2-1 2
(BAMIRKF)
i REF
0 0 3 1-2 3
(=2J\)
- i
0 1 2 0-3 4
(RIREM)
C
MR- FIE EH-TTR HAT-E
B B & fiz
(BRI ITFEIKE) | @vsat-vrozavszk-)| (Re-START-MERHR)
MR- T3
_ 3 3 2-0 1
(BAMIFKF)
EH-TTA
0 2 0-2 3
[EPZ &S S P EIEDZ Y Sl
HAT- R
0 3 1-1 2
(Re*START-HFEZ 5 %)
D
FARAMA FLE-BEEH O EHR-KEH
B B & fiz
(BENT2E) (TTM) (o8 =— AT R)
BEAR-TA
\ =3 3 2-0 1
(BIENT2E)
HE-EAE
* * - -
(TTM)
EH KB
0 ¥ 1-1 2
o r=— L OEFES)




BF—HKITTILR
R~ —F AL

hnggE- )l
(BEN IR KRE)
Hk-gl
(BEN IR KRE)
BEAR-TTA
(BPHNT2E)
T | 0
(BEIHEKRE) hnggE -l
HAT- X (BHIEKRE)
(Re-START-BAEZ &%) | 0
HH-KEF
(Ao R=—-LOEEAB L 1
EHE-RE 1 0
(TTM-ER)
LIPS
(UNIZON)

\0

R B

o Bl -8 R-FE M- X °o - n TTES
3 1 - 8 0 0 4 - N 3
6

(BHMIHKE) 11 - 8 (BHIRKE) (Re*START- BB E S L) - 11 (UNIZON)

iR B

1 - 7
1 - 8 0
(BHIRKE) 11 - 5 (UNIZON)

hngE-fL Il LTI



BF_TFHAITILR

A
FfE-2XK ®HRE-HLE FTH-AKRHA XH-FHE ,
i B & {iz
(HARZER) (:=2J\) @Y HRKR—Y) (K—TTC)
HE- =&
3 3 3 3-0 1
(EAAEEER)
FE-HL
0 0 3 1-2 3
(f=2I\)
HH-ARH
- 2 3 3 2 -1 2
QAVFRKR—Y)
XE-FH
0 0 0 0-3 4
(K—TTC)
B
HR-AR EZ-BF AF-TH @ FE-IH ,
i B & {iz
(RFEEH) (BHHD (K=TTC) ®HuT-E-2Ls57)
HR-AR
3 3 0 2 -1 2
(RIREEH)
E%-ElF
0 3 0 1-2 3
(BHH)
AF-TH
1 2 0 0-3 4
(K—=TTC)
FiE-1#t
3 3 3 3-0 1
(DHENTHE-FEINYST)
C
WA-KAE WO Kokt
% BR & {iz
(ZBIEH57) | huToL-£L957) | womsns s sat—yzon
A - $
“ 1 1 0-2 3
(ZE%977°)
wo-#E
3 3 2-0 1
(DHENTHE-FEILNYST)
R
3 0 1-1 2

(WOBMFER IV RAR—YROR)




HiE-EAR
(TOMO-EBEZHXR)
&SP
(WORMFER -IVHRR—YRDE)
HR-AR
(AREHE)
wa-wE
(BENTHE-FEILYTT)
HH-ARH
(EPZ V&S]
FE-1#
(DENT-E-FEILYTT)

1 - 6
3 1m - 7

(TOMO-BiFEZ £ %) 11 - 8

HE-EX

#HE-EX

(TOMO-EBEEER)

BF=FHITILR
RN —TF A b

2 HE-=EX
0 (TOMO-HFEZ £ X)

N2
g

RBE

RS- HH-ARH FiR- st

(CORUAR A F AR EDR) @AVERER—Y) 11 - 8

BRNTE-FIWHFT)

" - 7
=HH-ARE
1 - 6 1=

11 - 8 APHFRKR—Y)



I

25Xk BE

5 FE HiG

6 E &M

78 M

L3

8 H o

0%
]

95 N E G

BFIUTLR

(UNISON)

(BRIMKE)

(WHEWVT2E) ]

—~

EDZ RS S

(BMIRAZE)
(T T M™) *
0
(BMIRAZE)
2
(BMIRAZE) !
(BHEWT-E)
R B
9 - 1
9 - 1
# 3 13 - 11 2 e
(UNISON) 11 - 8 (BIENT2E)
11 - 6
o 1
(UNISON)
11 - 9
e bl
Rk . 0o . B
(BEIHEXE) 1 - 5 (BRMIFKE)

|o
|7 (HEABHBD) joim RS
]

o

RO
1 - 8
5 - 11
10 - 12
4 - 1

Mo s E
= E 8B
—mm 5=
mE MR
B & A
Bl 8
e kAR
' —Em BB

—~

—~

SHIRXE)

SHIRXE)

(Re*START)

(BMIMKE)

(WRHRWT2E)

nE Sz (&

M)

&)

B(BAMIMNKE)

.
3 Angk
(BMIHXE)

10

11

12

13

14

15

16

17

18

19



BF 304

A
HEE FiEfER FIR KA LS E:E
% B & iz
(BER) (BE#EE) | (Re'START)| (FEIWHST)
HEE
3 3 3 3-0 1
(BR)
FiEfER
0 2 0 0-3 4
(BIREEH)
IR K
1 3 1 1-2 3
(Re*START)
LS E:E
2 3 3 2-1 2
(FEv37)
B
HWARE— HRHEE TREXE Kt
% B & iz
(UNISON) | (RRE#H) (ReSTART) (fzZ/\)
HWARE—
3 & 3 3-0 1
(UNISON)
HREE
0 & 3 2-1 2
(BIREEH)
TREXE
* * * - -
(Re-START)
KEHiRth
1 2 x 1- 2 3
(=2J\)
C
MRERE EHhiE TS E
i B [ 72
@ERR-Y) | (F=2I\) (BREH)
MRERE
. 3 3 2-0 1
EPZYEEw)
EHhiE
0 3 1-1 2
(=2J\)
S E
0 0 0-2 3
(RIREE)
D
ERE A [E BB KEFHE
i B [ 72
EVEAE-IRDR) (BR) (LWORTAER)
ERE
1 0 0-2 3
@EVFAR-IROER)
[ BB
3 0 1-1 2
(2KR)
KEFHE
3 3 2-0 1
(LWOETFRER)




HEE

(ER)
HRHE
(RREE)

B

(F=2J\)
KEFHE

(LWORTRER)

TRIEE

B F30%

RB~—F A

FPHERKR—Y)
UEET]
(FEWH37)
B £ BB
(BER)

WA E—
(UNISON)

1 - 6
1 - 8
HaE

(BR) 6 - M

KEFIRE

(WOETIFER)

AR —
(UNISON)

# R B

KEBHE AE—

(UNISON)

mEE c \

(WOETHRER) QVHRR—Y) 9 - M

iR B

© 3
[
- =
- N

A E—
(UNISON)



BF404K%

A
I\ 2t EH 5F ARE EM .
B BR & 4z
(UNISON) (B&HWLT2E) @V FRKR—Y)
| =4
3 3 2-0 1
(UNISON)
BH BE
) 1 1 0-2 3
(BENT2E)
AREB &
\ 0 3 1-1 2
EPZ 5O =)
B
=& M A == Bl EBS .
B BR & 4z
(hon=—) | KbARzx79) (2kR)
=& fME
2 3 1-1 2
(hoik=—)
BA 2=
) 3 3 2-0 1
KBRZ27)
fZ1ll IEBH
0 0 0-2 3
(ER)
R R—F AR
HE =4
(UNISON)
& R
(H18=—) 0
HE =4
(UNISON)
AGRHE &M 1
@ALE ZR—Y)
2
B 2=
KBAAT)
R
3 - 11
8 - 11
MEHEH 3 B E=
(UNISON) 3 11 2 bz
11 - 9
11 - 7




BF504¢

12 - 10

A
BA B Ak FE S8 BE BT =9 |
% B & fz
(BHWNT2E) (HEEETT) (K—=TTC) |@v#ab-vkos)
'K f
) 1 3 2 1-2 3
(BN T2E)
Bhit FIE
_ 3 3 3 3-0 1
(mEET)
Fi8 EHE
0 0 0 0-3 4
(K—TTC)
hE £
3 0 3 2-1 2
@K -IRDR)
B
=R B RE BR W@ M= |
B B & £z
(ABEZER)  (FEWLU37) (TOMO)
TEA E
3 3 2-0 1
(BEAEZESR)
W E B
) 1 3 1-1 2
(FEILY5T)
i RRsE
2 2 0-2 3
(TOMO)
R —F AR
A RIE
(mEET)
WE HEE
@ELY57) 1
A RIE
(mEET)
TE EN 2
@EVFAR-YRDOER)
BEA st
(BEESR)
RO
11 - 4
1 - 7
B3k RIS ) A B
(mEEE) 7 11 1 (mmzss)




B F604t

A
WK xtE SE =8 HE =B XF E=
B B & {5z
(B%977) (BRE) (t=2J\) (K—TTC)
AR £iE
* 3 3 3 3-0 1
(B%977)
= AR
0 1 3 1-2 3
(BRfE)
H*E EF=B
0 3 3 2 -1 2
(f=CI\)
X EZ
0 2 0 0-3 4
(K—TTC)
B
AFE EA ¥ B WE BA =
B B & {5z
(K—=TTC) (f=2J\) (ZB%977°) (B
AFE &EA
3 3 3 3-0 1
(K—TTC)
N
0 3 3 2 -1 2
(f=CJ\)
WE EA
* 1 2 3 1-2 3
(B%977)
B B
0 2 2 0-3 4
(B
C
&I E— P EBEE TH EE
B B & {5z
(LWOBTIRER) (PRLT2E) (K—TTC)
®x E—
0 3 1-1 2
(LWDOETAESR
FiE EXE
\ 3 3 2-0 1
(BELNTHE)
ZH 1B
0 0 0-2 3

(K—=TTC)




BF60{%

REF~—F AL

A =g
(ZEW977)
& iE— 0
(LWOBRTFRESR)
¥R =B 1
(f=2I\) 1T N
FiEg E& (ZEW9777)
(BDIENTHE)
HE =58
(t=2J\V) 2 1
AEFE EA
(K—TTC) 1

1M - 7
10 - 12 _ -
WA x£i8 3 1 - g 9 Fi#E EE
(ZB5977) 8 - 11 (DHENTHE)
1M - 7




BF10K

A
E% EE AR LH# ME kB B8H B
B & -G
(B (EREE) (VOEFER)  (BHE)
% BE
2 3 3 2 -1 2
(&M
AR L
3 3 3 3-0 1
(BREE)
FE KA
2 0 3 1-2 3
(WOETHRESR
- E
2 1 1 0-3 4

(&HH)




